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Sample Paper – 2012
Class – XII
Subject – Accountancy

3 HOURS / 80 MARKS

PART A   -   NOT FOR PROFIT ORGANISATIONS, PARTNERSHIP FIRMS AND COMPANY ACCOUNTS
1.  Name any two receipts of a Not For Profit Organisation, which are not taken to Income and Expenditure A/c.  

                                                                                           [1 Mark – 1 Minute]
2.  On which side of Profit and Loss Appropriation A/c, Partner’s interest on drawings is recorded?


[1 Mark – 1 Minute]

3.   If the amount of Super Profit is Negative, what does it indicate?                     [1 Mark – 1 Minute]                                          
4.   Give journal entry for recording deceased partner share in profit from the closure of last balance sheet till the date of his death.                                                           [1 Mark – 1 Minute]
5.  Why is Rent paid to a partner debited to Profit and Loss Account whereas salary paid to partner is debited to Profit and loss Appropriation Account.                                             [1 Mark – 1 Minute]
                    .                                             
6.  [a] Calculate the amount of Subscriptions to be credited to income and expenditure account for the  year ended 2010-11.

	Particulars
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	Subscriptions received during the year 
	70,000

	Subscriptions outstanding on 31.03.2010
	12,000

	Subscriptions outstanding on 31.03.2011
	9,000

	Subscriptions received in advance on 31.03.2010
	12,000

	Subscriptions received in advance on 31.03.2011
	11,000

	Subscriptions of 2009-10 outstanding on 31.03.11
	2,000
	[2 Marks – 6 Minutes]


    [b] Calculate the amount of stationery expenditure to be debited to income and expenditure account for the Y.E.31.12.2010.

	Particulars
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	Stock of Stationery as on 1.1.2010
	16,000

	Creditors for stationery on 1.1.2010
	12,000

	Advance paid for stationery c/f from 2009
	1,200

	Amount paid to stationery creditors during 2010
	64,800

	Stock of stationery on 31.12.2010
	30,000

	Creditors for stationery on 31.12.2010
	78,000

	Bal of Advance paid for stationery on 31.12.2010
	18,000
	[4 Marks – 7 Minutes]


    [c] Show the following information in the Books of Nosuch Club as on 31.03.2011.  

	Particulars
	Dr. Rs
	Cr. Rs.

	Tournament Fund
	-
	4,50,000

	Tournament Fund Investment
	4,50,000
	-

	Income from Tournament Fund Investment
	-
	54,000

	Tournam7ent Expenses
	36,000
	-
	   [2 Marks – 5 Minutes]


         Interest Accrued on Tournament Fund Investment Rs. 18,000.  

7.  J, K and L are partners in a firm with PSR of 4:3:2.  As per agreement J’s salary is Rs.15,000 per quarter, while K’s is Rs.4,000 p.m.  L was to get a commission of 15% of Net Profits, after charging his commission, but before considering Salary to J and K.  25% of the balance of profits after all these appropriations was to be transferred to General Reserve, and the final balance distributed to partners.  Profits for the year were Rs.3,45,000.  Prepare P & L Appropriation A/c.          [4 Marks - 10 Minutes]

8.  A, B and C are partners with PSR of 3:2:1, and Fixed Capitals of Rs.1,00,000, Rs.80,000 and Rs.60,000, respectively.  For the Y.E. 31.3.2010, Interest on Capital was credited to them at 10% p.a. instead of 8 p.a.  Pass a journal entry for adjustment.                                          [2 Marks – 5 Minutes]
9.  From the following information, calculate the value of Goodwill by Capitalisation Method:

      i.  Net Trading results of the firm for the past years

           2000 - Rs.1,47,600 Profits;   2001 - Rs.1,46,300 Losses;  2002 - Rs.4,48,700 Profits

     ii.  Rate of Interest expected from capital having regard to the risk involved is 15%.

     iii. Total Assets[including Copyrights of Rs.1,00,000]  are Rs.10,00,000, and Liabilities are Rs.3,00,000.                                                                  [4 Marks – 8 Minutes]
10.  The Balance Sheet  as on 31.03.2010 of A and B, partners, with PSR of 3:2 stood as follows:

	LIABILITIES
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	ASSETS
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	Sundry Creditors
	2,10,000
	Fixed & Current Assets
	5,10,000

	General Reserve
	1,20,000
	Advertisement Suspense
	30,000

	P & L Account
	50,000
	
	

	Capitals –     A & B
	1,60,000
	
	

	
	5,40,000
	
	5,40,000


    C  was admitted as a new partner for 1/5th share of future profits, for which he brought Rs.1,00,000 as Capital.  Pass necessary journal entries for Cash brought in by C.                [5 Marks - 10  Minutes] 

11.  [a] A, B and C were partners in a firm with PSR of 3:2:1.  C retired and the new PSR between A and B was 1:2.  On the date of C’s retirement, Goodwill of the firm was valued at Rs.60,000, while already appearing in books was at Rs.30,000  Pass necessary journal entries.        [2.5 Marks -  7 Minutes]

     [b] D,  E   and   F   are equal partners in a firm. E retires and  a sum of Rs.40,000 is finally  payable to him.  He is paid in kind, a vehicle valued at Rs.20,000, unrecorded in the books of the firm, and the balance in cash.  Pass journal entries recording the payment to E.       [2.5 Marks - 5 Minutes]

12. The Balance Sheet, as on 31.03.2011, of X,Y and Z, partners with PSR of 3:2:1,was as under:

	LIABILITIES
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	ASSETS
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	Capital      X     

             Y

             Z
	75,000

70,000

50,000
	Patents
	15,000

	
	
	Machinery
	35,000

	
	
	Buildings
	75,000

	General Reserve 
	24,000
	Debtors
	27,000

	Sundry Creditors
	72,000
	Stock
	18,000

	
	
	Investments
	50,000

	
	
	Cash
	71,000

	
	2,91,000
	
	2,91,000


X died on 31.07.2011.  It was agreed that:

a. Goodwill be valued at 3 years’ purchase of average profits of the last five years, which were

       2006-07 – Rs.10,000;   2007-08 – Rs.15,000;   2008-09 – Rs.25,000;   2009-10 – Rs.40,000; 

2010-11 – Rs.60,000.

b. Interest on Capital at 10% p.a., on Opening Balance of Capital, will be given to X.

c. X’s share of profits up to date of death,  was to be based on the previous year’s profits.

d. Machinery be valued at Rs.25,000, Investments at Rs.81,000, while Patents are useless.

f. The executor of the deceased partner is to be paid entirely in a single payment. Prepare X’s Capital account and Executor’s account.                                               [6 Marks – 14 Minutes]

13.  A,B & C are Partners with PSR of 3:2:1.On 31st/Dec/2003 Their Balance Sheet was  as Follows:

	Liabilities
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	Assets
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	Creditors
	68,500
	Cash
	26,500

	Bill Payable
	20,000
	Debtors
	52,000

	Provident Fund
	18,000
	Stock
	36,000

	Commission Received In Advance
	8,000
	Investment
	16,000

	Capital A/C’s:      A---80,000

                    B---50,000  

                    C---30,000
	1,60,000
	Plant
	90,000

	
	
	Profit & Loss A/C
	54,000

	
	2,74,500
	
	2,74,500


On this date the firm was dissolved. A was appointed to realise the assets. A was to receive 5% Commission on the sale of assets(Except Cash) & was to bear all expenses of realisation. 

A Realised the assets as follows:                                                 [8 Marks – 18 Minutes]
Debtors-Rs.30,000;    Stock-Rs.26,000;   Investment 75% Of Book Value;    Plant-Rs.42,000.     Commission Received In Advance was returned to the customers after deducting Rs.3,000.  Firm had to Pay Rs.6,000 for outstanding Salary not provided for.  Rs 25,000 had to be paid for Provident Fund. Creditors were settled at Rs.3,500 less. Realisation expenses, paid by the firm, was Rs.4,000.  Prepare Realisation; Capital & Cash Accounts.

14 . Profiss Ltd. issued 50,000 shares of Rs.10 each at a premium of Rs.2 per share,  payable as Rs.3 on application, Rs.5[including premium] on allotment, and the balance in equal instalments over two calls.  Applications were received for 75,000 shares and allotment was made as under:




Category A    
 Applied - 40,000

Allotted - 30,000




Category B    
 Applied - 30,000

Allotted - 20,000                  

    S who held 1,800 shares in Category A, did not pay allotment money and had to forfeit his shares after non-payment of first call.


C who had applied for 1,500 shares in Category B paid failed to pay the final call.

    Out of the forfeited shares, 1,000 shares  were reissued as fully paid up, at Rs.9 per share.  

    Pass necessary journal entries to record the above transactions.                  [8 Marks - 18 Minutes]

15. On 1.01.2010, A Ltd gave a notice of its intention to redeem its outstanding Rs.4,00,000, 5% debentures at 102%,  and offered the holders the following options:

     (i)   To subscribe for 6% cum preference shares of Rs.20 each, issued at Rs.24 per share -  Accepted by the holders of Rs.2,40,000 stock, OR,   

     (ii)  To Subscribe for 6% debentures stock of Rs.100 each, at 120% - Accepted by the holders of Rs.1,20,000 stocks, OR,

     (iii) To have their holdings redeemed for cash, if neither of the above options was accepted.

    Give journal entries necessary to record redemption of debentures.                  [4 Marks - 10 Minutes]  
16. Under what heading in a company’s Balance Sheet, prepared as per Schedule VI of Companies Act, 1956, would you fit the following:                                                            [1 Mark -  1.5 Minutes]

     (i) Calls-in Advance (ii) Deposits with Customs [iii] Unclaimed Dividends  [iv] Bank Overdraft   

17. Name any two items under Contingent Liabilities.                                       [1 Mark – 1 Minute]

18.  Prepare a comparative Balance Sheet of Y Ltd, from the following details.          [5 Marks - 15 Minutes]

	Particulars
	31-12-2009 
	31-12-2010 
	Particulars
	31-12-2009 
	31-12-2010 

	Equity Share Capital
	15,00,000
	15,00,000
	Current Assets
	7,50,000
	8,70,000

	Fixed Assets
	18,00,000
	19,80,000
	Current Liabilities
	2,50,000
	3,50,000

	Reserves and Surplus
	2,75,000
	3,20,000
	Unsecured Loans
	2,50,000
	3,00,000

	Investments
	2,00,000
	2,00,000
	Preliminary Expenses
	25,000
	20,000

	12% Secured Loans
	5,00,000
	6,00,000


19. State whether the following will increase, decrease or not affect Quick Ratio:

    (i)Payment to Creditors  (ii)Issue of Shares for cash   [iii]Purchase Returns   [iv]Write off of Bad Debts                                                                             [2 Marks -  3 Minutes]

20. State whether the following transactions will result into inflow, outflow or no flow of funds :

    (i) Conversion of Rs. 10,000 equity shares into 9% debentures. (ii) Receipt of money from Debtors.                 

    (iii) Issue of Shares of Rs.1,00,000 for purchase of Machinery  

    (iv) Dishonour of Bills Receivable                                                  [2 Marks -  2 Minutes]

21. Calculate the following ratios on the basis of information given below [there are no Investments or Fictitious Assets]:  (i) Liquid Ratio

(ii) Proprietary Ratio

(iii) Operating Ratio

Sales Rs. 4,80,000;   Cost of Goods sold Rs. 1,20,000;   Selling expenses Rs. 80,000;  Admn. Expenses Rs.40,000;   Current Assets Rs.1,50,000;  Current Liabilities - Rs.1,05,000;     Closing Stock Rs.10,000;  Fixed Assets Rs.3,00,000; Share Capital Rs.2,00,000:  General Reserve Rs.70,000.   [4 Marks – 10 Minutes]      
22.  From the following information calculate Cash Flow from Operating Activities.      [6 Marks – 14 Minutes]             

	Particulars
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	Particulars
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	Transfer to General Reserve
	25,000
	Decrease in Stocks
	12,000

	Provision for Income Tax
	40,000
	Increase in Debtors 
	7.000

	Interim Dividends Paid
	15,000
	Increase in Creditors
	5,000

	Discount on Shares written off
	8,000
	Decrease in Outstanding Expenses
	3.000

	Insurance Claims Received
	20,000
	P & L  A/c  [1.01.2010]
	8,00,000

	Profit on Sale of Machinery
	1,000
	P & L  A/c [31.12.2010]
	10,00,000

	Rent Received
	4,000

	Income Tax Paid
	30,000

	Refund of Income Tax
	2,000
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